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PART - A
GENERAL INTELLICENCE & REASONING

Directions: In questions no. 1 and 2, select the related |,13.  Cerlain numbers have symbols as given below.

Et&rf%rd‘ﬁﬁm the given alternatives. 1. 2 3 4 5 6.7 89 9
1. Horse:Neigh::Bells: ? Q0OC £ 348y 75
(A)  Beat (B) Chime : What is'the number indicated by these symbols ?
(C Rustle (D)  Roar £ J ™ owld .
2. A-BE:R-\\::B-F:F-] @) 47835 ® 5?90?
() CTDH ® BSCG b (@ 45096 D 45906
(O FUGK D) CsCG Directions: In questionnes.1d (017, find the odd word /
N s o, ' T —_— number from the givenallernatives.
] when sequentially placed a i -
the gapsin the given letter series shall complete it ? ¥ Eg} g ’,:l; Mark ® gaund (Sterling)
a_bba_bba_bb . 4 & i
(A) bba (B) aab (O abb (O bbb |15 (A Yeliow(reen (B)  Yellow Orange
i (G pRed¥Yellow (i RedO
Directions: Inquestions no. 4 to 12, a seriesis given, with i e Sl i
one term missing. Choose the correctaltemativefromthe | 16 (&) fastidious (B firm
given ones that will compilete the series. € grave {3}  agreeable
4  EFA,GHCIJE, 7 . ol el v '
(4) KDA ®) JKG p S o .
O Ko . ©) HiF E n) 2y B) 125 & 216 D) 343
- . {48, Whatis the leastnumber to be subtracted from 2486
5- - "]._3; ‘lﬂ} ? . 10{}, 1503, 1{}'}{1 :E.DG[:Ga : tDmﬂkE i_t a Pertm squm :'
(A) 130 (B) 1030 (O 1130 [:D} oS A 80 (B 8 (© 9% (0 95
6.  61,52,63,94,46, 2 . - 19.  Shiela and Belahstart from their office ;md walk in
A 19 B) 18 opposite direction each travelling 10 kms. Shiela
€)- 17 (D) None : then turns Jeft and walks 10 kms. Belah turns right
;S 2. 2{11}::1;.;&&5 10 ]fm. How far are they now from eac'h
(A) 145 (B) 253 (O 19% (D) 245 (A) 20km (B) 10km
& sz rz a2 89 Q e - Bl
) XYz B) “TYZ 20.  Roshan is taller than Hardik who is shorter than
(@ RYZ D) MYZ Susheel. Niza is taller than Harry but shorter than
' Hardik. Susheelisshorter than Roshan, Who is the
% PICRSETELVI12EN 2. tallest ? -
(A X160 @ X17M - (&) Roshan® @) Susheel
© X170 D) Y170 (©Q Hardik - (D) Harry
1. NPMKRTIG_? . Directions: In questions no. 21 to 23, from the given
(A) VX ® UW (Q W (@ EC | aternativesselecttheword whichcannotbeformed using
: the letters of the given word.
1. AZOGEV,GT,_? ,KP,_1? . 21.  DISAPPOINTMENT
{A) IRandMN (B [RandNM (A) POINTER (Bl  OINTMENT
(O Riand MN (D) Rland NM (O TENEMENT. (D) POSITION
1. TQNKHEBYVSP??? 22. DECOMPOSITION
(A) MJH (B) NKG (A) COMPOSE (B) ECONOMIST
(@ NKI D) MIG (@ POSITION (D) DOCIOR
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23, INTELLIGENCE ) :
(o) NEGLECT (B) © GENTLE
(Q INCITE * M) CANCEL
24.  In the following question, the number of letters
skipped in between adjacent letters in the series is

successive even numbers. Which of the following

series observes thisrule ?
(A) FINUZ B ADGJM
(@ BEJQZ @) BDGKQ
25. U MOBILE is written as ZAMSUM, how TUMOR
can be written in that code 7
(A) BRAIN B HGYAD
(@ GGXYA (D) [HZBE

26.  Inaquestion paper, there are 12 questionsinall out
Lﬂ("“‘ of which only six are to be answered. Sixquestions
X 6’ have an alternative each. “Each guestion has four
parls.
How many guestions mciudmg parts are there in
- thequestionpaper? . ; ;
A, 24 @ 48 ©Q 72 (D} 96

27. 1 % stands foraddition, < for substraction, + stands
for division, > for multiplication, - stands for
equation, + for greater than, and = stands for less
{than, state which of the ioiinwing Jjs true?

(A) 3x2<4+16>2+4
B 5>8+4=10<4x8
QO 3x4>2-9+3<3
@) 5x3<3+8+4x1

28. US5+66=33and22F99=33, what is44 +882
A 33 B 36 (©Q 383 @ 4
Directions:_In questions no. 29 to 34, select the missing

number from the given mspunses
2%, 3 4 b
5 7 3 y
1 2 7
B & r ° -
(A) 82 @B M (€ 84 @O 4«2
30. 16 49 o4
B 3% 81
S B 7 '
A 21 B 22— € 17 O 14

31. .19 18 34 32 44 41

2 4 ?
@3 ® 6 © 9 O 4

32.:/ 3 2
2 100 7 7 5

W7 o® 9 O 6 O 81

ol

-y

3. 511,24,51,106, 2 - = —
(A) 115 (B) 122 {q 217 (0 221

31, 3917,3526, 2, 2857
(A) 3082 ® 374
© 3389 . O 282

35. A and B both are walking away from point X".
A walked 3 m and B watked 4 m from it, then A
walked 4 m north of * X’ ared B walked 5 m south of
A. Whatisthe distance between them now ?

@A) NA0m ® 95m
© 9m O 16m

36. Pipe Accanufill a tank completely in 5 hours.
However, on account of a leak at the tank, it takes
3 mere hours to fill the tank, '-mwmngwﬂlthc!ea
take to empty the .full tank when pipe A is
closed /shut ?

{A) 13 hours 20 minutes
B 75hours

(O 14 heours 40 minutes
O} 12 hours 20 minutes

Directions: In questions no. 37 and 38, one/two
statements are given follotved by two/three conclusions |,
M and Ill. You have to consider the statements to be true
evenif they seem to be at variance from commonly known
facts. You have to decide which of the given conclusions,
if any, follow from the given statements.

37. Statement: Sunis thesource of light.
Conclusions: (I} Moon isnot themurmnﬂughi
() Light has only one source.
(A)  Only conclusion (1) follows
(B)  Only conclusion (1) follows
(O  Bothconelusions (I) and (1) follow
(D}  Neither conclusion (I) nor (I) follows

38. Statement: ([) Al cities are lowns.
(Il) Some cities are villages.
Conclusions: (I} All villages are towns.
(I} No village is a town.
(1) Some villages are towns.
(A)  Only conclusion ([Il} follows
(B)  Only conclusion (I) follows i(
Only conclusion (I1) follows
/g None of these I

SPACE FOR ROUGH WORK
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Directions: Inquestionsno. 39104, which answer figure
will complete the question figure? _

r—

39.  Question figure:

XX

Answer figures:
. - | I
(A) (B) {Q ()
40, Question figure:
.
QEIDEN
AlQI#la) |
S8 5 | |
i bt I O
RAEANRGE,
Answer figures:
Bl s
O] of el [n ofe
‘ oje Bo Ofm Ofa]
W s © @O

41.  Question f igure:

Answer figures:

%ﬂ,&.

(A) (B) ©

42.  Which one of the following, Bost in be created by

q3,

45.

folding the given key design ?
Question figure: '

Answer figures:

; =

h} @ < (D)

Vhich figure represents the relationship among
Sun, Moon, Mg}jEﬁu.Ln-? -
i

o —— —

Y I"' 5 N 3-\'
.--I (] .-I {B} I- -}(-_--. 1

IR

o b M S

Q {M) ®) QE))

Choose irom the following diagrams (A), (B), (C) and
(D) the one that illustrates the relationships among
three givenclasses ;

North America, United States of America, New York
Answer figures: -

-

a0 @ | B3 | A
(A) ®  © X ©)

How many circles are there inthe following figure 7 ~

(A 11 @

12 [¢:} 13)91 14

SPACE FOR ROUGH WORK
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A

46. Three views of the same cube are gwen. Allthefaces | 49. Jfa mirroris piau.,ed unﬂiehmHN then wl'nch of -
of the cube are numbered ffom 110 6. Select one the answer t':gures is the r@'ﬂ :mage of the giVen
figure which will result whien the cube is unfolded. - figure?

Question figures: - .
Question figure :
3/ _ 4 "
a 4115 312 g M
_ | -
Answer figuresl 9:// :
—m — I e~ )
4] 4 5 b . -
1le]|l |s]6] 3]6] 4)5] N
3, 1 4 3 _
1[3]2 (3]2 1211 Hz 1 Answer figures:
@) ®) © . O [y

47.  Which answer figure includes all the components p B )7"': TR Pl
given inthe question figure 7 1 {;'/‘“‘ I {@i i E\E‘L& ,@ |
Question figure : T || x E i

: 7Y B o | 7
3 <>

N o-[] | =

\> o1l i 50. A word s represented by only one set of pumbers as

_I " 7 given'in any one of the alternatives. The"sets of

numbers given in the alternatives are represented

Answer figures by two classes of alphabets as in the matrix given

ad below. The columns and rows of Matrix are

'/@ /&) o L numbered from 0 to 6. Aletter from the matrix can

e /\ o ’\‘ <> be represented first by its rowand next by its column,

6 e.g.. A’ can be represented by 42, 62, etc., and T"

— can be represented by 15,43, etc. Similarly, you have

{B} {Q m, {o idE‘I“ify the set for theword "CALM'".

48. A pieceof paper is folded and cut as shown below Matrix
in the question figures. From the given answer : -
figures, indicate how it will appear when opened. 01112131456
Question figures : 1|H|{R|E|I|P|S

2| S|IGIN|DIZ]|1}
= : 3|B|U|F|T}K|L
w \‘ o alvialrlcly]a
- o s M|lwlclo|x]|n
Answer figures
- 6iBlalE}jlL]o!
° o o 4§ o 0
PLON B e o)C. 0 (A) 44, 62, 65, 51 53, 42, 65, 36
O olp © 0 0 G
@A) "(B;, o O (@ 53,54,51, 31/{{); 44, 54, 65, 24
ACE FOR ROUGH WORK
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" - PART - B L3
_GENERAL AWARENESS
51, Eﬂemaht)r theory is the hasic theory of the followi ng | 57.  Whogave thetitle of "Mahamania” to Madan Mohan
branch of Economigs- , . Malviya?
(A)  MacroEconomics AT BatGangadhar Tilak :
v ) - (B) Dada Bhai Navrozi
(B) Efwwunnrmﬁ (©)  Gopal Krishna Gokhale
(C)  Fiscal Economics () Mahatma Gandhi r
D) International Economics 58. The vacancy of the office of the President must
_ 5 filled within - —
52 Diamondsare priced higher thah water because ; (A)- 3months (B) 6 months &
(A)  consumersdonotbuy them at lower prices. < (@  Mmonthshy I month L
(B)  they are sold by selected firms with { 59  In which part of the indian Constitution, the
monopolistic powers. ! fundamental du;j.f;;s are ens hrined 7
AT theirmarginal utility to buyersis higher than A IV B VA (O VB @) v
Fhamf water. 6l.  Whogescribed the Governament of India Act, 1935
() theirotal utility to buyers is higher than that as a new charter of bondage 7
of water. . (&) BR Ambedkar
| (B) Mahatma Gandhi
53, Transboundary pollution (or} Acid rain is caused | ()  Rajendra Prasad
by 1 Y {15 Pr.Jawaharlai Nehru
’_,,{A)'_’fl‘:}litmgenoxidemd sulphur dioxide 61. Who was the Viceroy at the time ul’f(}uil!ludia
(B)  Carbon monoxide Jovmmmat .
. o E (A)_- LordJtwinX o (B)  Lord Mountbatten®
© roon dioxwle Lord Wave fD} Lord Lin Lithgow
L Hydrocarbo
(L) ydrocarban 62.  Whowastheother Congress leader who joined with
. ~ Motilal Nekiru to start the Swaraj Party in 1923 ?
“Functional Finance” is associated with - (4) . GK. Gokhale (B) B.G Tilak »
(A) Abba'P'lemer (B) AdolphWogner JE)/ Chitaranjan Das (D) MK Gandhiy,
(] ‘ AdamSmith /EE?]// Adams 63.  Whatis the first sermon of Buddha called as ?
(A) Mahaparinirvansutta
55.  Of the following land uses, which i is restricted to - (B) Brahmajalasutta
Epecmlgmﬁm? €} _.Dhammachakkapabattanasutia
(A)  Information Technology Companies Kachchayanagotiasutta
(B)  Fducational Institutions @ 64.  Front which of the folowing banks did Madan
Mohan Malaviya take loans for fi nancing The
/LC?J/ Free trade Centres _ Hindustan Times” ?
(D)  Marketing Centres (A)  State Bank of India e
. Punjab National Bank
56.  Who of the following enjoys the rank of Cabinet () Bank of Maharashtra
Minister in Union Cabinet (D)  Bank of Baroda
,.ﬂ(ﬁf' Deputy Chairman of Planning Commission | g5, wrote the book “Why Socialism” ?
' (B)  Judge of Supreme Court Jayaprakash Narayan
; Mahatma Gandhi
Secretary to Government of India ®) -
© . {Q Acharya Narendra Dev
() Political Advisor to PM MN.Roy >

¥
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69.
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73.
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Multi-purpose river valley _projects are the “New
temples of modern India”.

The above statement is made hyﬂ__
" Jawaharlal Nehw  ~
() Motilal Nehru °

{O Mahatma Gandhi

() Rajiv Gandhi

Where are the Todas found ?
(A) Madhya Pradesh
~ Tamil Nagdu

{00 Rajasthan
D Arunachal Pradesh

The eastward continuation of the ﬂsaztl current is

called :

(A)  Morth Atlantic dr:.ft (’ /F

{8 South Atlantic drift - N
Counter Equatorial drifi ) ,’:«i//

{D] WE*;t Atlantic drift e,

[/

Which of the following is an endunf-: species ?
Nicobar pigeon  (B)  Hombill
({3 Indian Rhinoy. (D) Pink head duck

The natural disaster in which carbon-di-oxide
suddenly erupls from a deep lake water is known

ag . -
(A) Liminic »45)// Lacaustrine
(O  Fluvial D) Clacial
Blood group was discovered by :
(A}  Alexander Fleming M
(8) William Harvey *
J€J" Landsteiner
) Paviov
Pickout the correct match : S
Eggyolk Protein and Fat
(B) Fleshyfoods -  Calciumand Protein
() Fish - and Vit;
) Milk Fibre and linerals
A —— ll,
Bloodisa:
(A)  reproductive tissue
connective tissue
(O  epithelial tissue ~
(D)  muscular tissue e h
DFI‘ vaccine 15 administered to prevent diseases
[A] Diphtheria, Pertussis apd Typhoid
\JB]/- Diphtheria, Pertussis#nd Tetanus

(© Dengue, Pertussis and Typhoid
(D)  Dengue, Polio and Tetanus

75. The disease that has beendeﬁH from the vrorld,
' 15
1A5/5ma|lpox (B)  Leprosy -.
(O  Poliomyelitis (D) Chicken pox

?61{ In dicoys the pollen-grains possess :
; IO{M one germ pore B two germ pores

(O  threegermpores (3)  fourgerm pores
77. ‘'Farad’ is thewunt of :
Condectance (B Capacitance
{0  Indoctance (D) Resistance
& 3
78.  Steelis moretelasticthan rubber because it:
{A) Wis har:lerthanml_;_bgr
i ‘Fr! requires larger deforming force
(G  isneverdeformed »
(D) is deformed very easily
7. Communication satellites are used 1o

(A} rransmit communication signal only ~
(B
J  receive and redirect communication signal
(D)  provide information of natural resources only

80.  What type of information system would be
recognised by digital circuits ?

recenve Commumication signal only &

(A)  Hexadecimal system
(B)  Binary system
Both hexadecimal and binary system
(D)  Only Romansystem
81.  Which of the following is an impact printer ?
(A) 1sy wheel printer
Ink-jet printer -, -
() Bubble-jet printer

1 Laserprinter -

82. Identify the odd term amongst the following
group :
(A)  Coaxial cable
(B)  Owptical fibre
(Q  Twisted pair wire —
,JP)” Microwaves .
(.9 A
83. Stains 0@ on clothes can be removed by :
H,0, . B  Oxalic acid
(C) Petrol + (D) Mc{}hnlx
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. .
84.  The percentage of nitrogen present in ammonium

sulphateis: - miia
(A)~ 18% s -m( 2%
Q 5% ) 30.5%

85.  Ethanol containing 5% water-is knownas :
(A)  Absolute alcohol
(8) Dilute alcohol
(G Poweralcohol

B Rectified spirit
86.  Thehormone used as an oral contraceptive is

(A) Aldesterone (B) Cortisone
€] Progesterone (D)  Testosterone y

87.  Expand theterm IPCC::
(4 Intemanbonal Pollunon Control Council
(B) International Panel of Climate Control
1C) ' Interim Panelof Climate Change * -
/{91’ Intergovernmental Panel on Climate Change

88. The"OneSraw Revolution” was written by

(A} Masanobu Fukuoka
{B) - Richael Carlson
(& MS. Swaminathan

ﬁ Norman Borlaug

89.  Acceptable "Noise Pollution Level” inIndia range
between ; '
(A) 10-15dec P B)  16-35dec
40 - 45 dec D) 70 -100dec

90.  Endosulfan spray on cashew crap resulted in the

polafion to the tune of tragedy jue:
(A} TamilNadu (B Kerala
{O Andhra Pradesh (D) ' Karnataka

91.  AungSanSuu Kyl isanative to:

(A) Tibet
(B) China

Myanmar b
D)  Arunachal Pradesh

India and Japan inked two agreements during
November 2012 10 enable Tokyo to import from
India

O L?dér goods
{B) Rareearth minerals X
(© Basmatityperice
e o) Rubker based products,

93.

Non Resident| iﬂﬁ_{.ﬂﬁﬁ?a is marked on:
W) C Ianualy::’ . W@W "
© W' (D) January 19

94.  “Whether [ earned };rnur vote or not, L have listene.

toyou, I have learned from you. You have made m
abetter President”, as said by :

(A}  PranabMukherjee
‘ﬂ", Barack Obama
{Q George Bush -

(D) AP} Abdul Kalam

95. First Hindu-American 1o enter in the US House oi
Representative as senator is:

fa)  TulsiGabbard
(B)  Sunitailliams
(9] sngupla
At e

..
6. Who was not a politician ?
{\) ~ HN.Bahuguna -

® 1K Cujral-.
e SL Bahuguna
©)  J. Jayalalitha

97, The WISE Prize-2012, hlso known as the “Nobel

Prize for E i "Wasmnfefredbflhuﬁrs‘ﬁ
mmit i n:

(A) Dr. AP] Abdul Kalam

B Dr.Madhav Chavan
()  Dr. Yash Pal
(@) Dr.MS. Swaminathan

98. The most powerful woman in business in India as
rated by the “Fortune” for the year 2012is:

&)~ Chanda Kochhar
(8) Prabha Parameswaran

(O Debjani Ghosh.
(D) Anjali Bansal -
99. Indira Gandhi.Prize for Peace, Disarmament and

Devel 2012 y¥as awarded to:
(A} Tereza Fajksova »
8  Sunita Williams ~
() Chanda Kochhar
P Ellen Johnson Sicleaf

ia occurs due o loss of excessive h._:at

100. -H
from pédy due to sudden low body fute in:
(A)  Snakes B)  Frogs

A Humanbeings (D) Lizards
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106.

107.
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PART - C

- QUANTITATIVE AFTITUDE

() e

@ 2 ® -20 2 @O S

Number of digits in the square root of 62478078 is :
A 3 ® 4 @ 5 (@O e

109,

1 10 men or 20 women or 40 children can doa piece

of work in 7 rmonths, then 5 men, S women and |

5 children together can do haif of the work in

(A) (B)
(@] (D)

8 months & months

4 months 5 months -

A man undertakes to doacertain work in 150 days. :

He employs 200 men. He finds that only a quarter
of the work ‘is done in 50 days. The number of |
additional men that should be appointed so that |

the whole work will be finished in time is -

A) 50 ® 75 © 100 D) 125

A can finish a work in 18 days and B can do the
same work in 15 days. Bworked for 10 days and left
the job. Intow many days, A alone can finish the
remaining work ?

W 8 ® ‘6

0 % @ 5

The ratio of inradius and circumradius of a square
15

A 1:2 ® 1.2

©) J2:43 - By 1:3

The perimeter of the base of a right circular cone is
8 cm. If the height of the cone is 21 cm, then its
volume is:

108
_— c_[nj'
aw

(A) B 108 wem®

152 o

I

P

{© M 112%cm®

7

110, ‘Lhe marked price of a.mixie is T

11

- ©

112.

113.

114.

| 108. A circular road runs around a circular ground. If

the difference between the circumferences of the
outer circle and the inner circle is 66 metres, the

widthof the road is : (Takew = 2 )

(A) ®)
©Q )

21 metres 10.5 metres

7 metres 5.25 metres

A shopkeeper marks the price of an article at 280,
What will be the'selling price, if he allows two
successive discounts at 5% each ?

(A} TER B 722

Q L7 0 85

1600, The
shopkeeper gives successive discount of 10% and
*%to the customer. If the customer pays T 1224 for
the mixie, find the value of x:

B

(A % We IO 12% I 15%

Which of the following Successive discounts is better

toa customer @) 20%, 15%,10%
or (b) 25%,12%,8%7
(A) (a)isbelter
@  (b)isbetter
(2) or (b) (both are same)
(D)  Noneof these

Given A is 50% larger than C and B is 25% larger
than €, then A is what percent larger than B ?

(A) 20% ® ~25% (O 50% D) 75%

Three numbers are in theratio 1 :2: 3. By adding 5
to each of them, the néw numbers are in the ratio
2:3:4. Thenumbers are:

(&) 510,15
{0 153045

(B)
O .

10, 20, 30
1,2,3

Out of 10 teachers of a school, one teacher retires
and in his place, a new teacher of age 25 years joins.
As a resull, average age of teachers is reduced by
3 years. Theage (in years) of the retired leachl;?

@ S0 ® 58 © 6 O

: SPACE FOR ROUGH WORK —— _
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115.

116.

117.

118.

1 19!

120.

©
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The average of 50 numbers is 38. [f two numbm
namely 45 and 55 are discarded, the avezage of the-
remaining numbers is :

(A) 36 (B 35 25 O 75

©

On selling an article for T 170, a shopkeeper loses
15%. In order to gain20%, he musl sell that article

at rupees :
Ay 210
@ 21250

215.50
240

(B)
®)

The value of a machine depreciates every }'ear by
10%. I its present value is T 50,000 then the value of
the machine after 2 years is

(A) % 40,500 (B)
T 45,000 D)

< 40,050
T 40,005 -

A man can swim 3 km/hr. in shll water._If the
velocity of the stream is 2 kmy/ hr., the time taken by

him to swim to a place 10 km upstream and back |

15

g ' 91
m}. S ® 93hr
© 10k (O) 12hr

A train moving at a rate of 36 km/hr. crosses a
standing man in 10 seconds. It will crossaplatform
55 metres long, in:

1

(A 55 seconds (B) 6 seconds
i . . 1
(@ 7 seconds D) 155 seconds

The time in which ¥ 80,000 amounts to T 92,610 at
10% p.a. at compound interest, interest being
compounded semi annually is :

(A) 3 years (B) 1';' years
(© 2years (D) %}Tm

121.

122.

123,

b R

125,

126.

127-

128.

129.

A man buys 3 cows and 8 gm‘fsm 47.200. Instead,
if he would haye bought 8 ows and 3goats, he had
to pay T 53,000 more. Costnfﬂnemw is:

(A) 10,000 B 211,000
© T 12000 O T13000

If p~2q =4, then the value of p’~ 8%~ 24pg - 64
i5:

@A =1 B 2 © 0 ®»m 3
If st : then the value of :

R -— & S, o e
-2y +1908 ueol ?’Ib
(A) 27 By {Q 110 D 125
If a2+ b> Rl + =2 then the value o

Zz—ndcis
a o .\®m Q 4
| 1
H—=<-= thenthevalueofr-riis: ~
4 . :
iy S t\" o X b i
(&). . a (B) a (4 ;O =

f ( n—in+ : ) be a perfect square, then the values

of t are ;
A =1 ® =2 @ 12 O 23
; . t
It {x + -—]: 4, then the valueof ¥+ — is;
x _r‘
(A) 124 (B) _64 (G 194 O 81

Equation of the straight line parallel to x-axis and
also 3 units below x-axis js -

A x=3 ®)
© y=3 O

xr==3
y=~3

If AABC is similar to ADEF such that BC=3 cm,
EF =4 cm and area of AABC = 34 cm?, then the area
of ADEF is-

(A) 54 cm?
© 78cm?

®
)

96 em?

SPACE FOR ROUGH WORK )
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131

132,

133,

134.

135.
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A chord AB of a circle C; of radius (V3 +1)cm
touches a circle C, whichis cont@ntric to Cy- I the

radius of Cyis (V3 = 1) em., the length of AB is:

(A) 43 em ® 2¥3 em

© 83an - ©) 435 cm

Inatriangle ABC, AB= AC, ZBAC =4(°. Then the
external angle at B is

A) 8 B W © 70° O 7

A chord of length 30 cm is at a distance of  cm from
the centre of a circle. The radius of the circle is:

@ 19 ® 17 © 23 O

If ABCD be a rectangle and P, Q, R, S be the mid

points of AB, BC, CDand DA respectively, then
the area of the quadrilateral PORS is vqual to -

(A) | %area {ABCD)
(B) area (ABCD)

© % area (ABCD)
3
(D) A area (ABCD)

"and Qare two points on a circle with centre at Q.
R isa point on the minor arc of the circle, between
the points Pand Q. The tangents to the circle at the
points P and O meet each other at the point 5. If

£PSQ=20, /PRQ=7 ‘ :
(A) 1000 B) 80° (O 200° D) 160°

AB and CD are two parallel chords of a circle such
that AB=10 crnand CD=24 cm. If the chords are
on the opposite sides of the centre and distance
between them is 17 cm, then the radius of the

circle:
(A) 10cm By 1lcm
O 12em (D) 13c¢m

|
E

136, ABCisanisosceles triangte such that AB=ACand
£B=135". AD is the median to the base BC. Then
£BADIs: .

A 55° ® 70 (© 35 @ 0

137.  The angle of elevation of a tower from a distance
- 100 m from its foot is 30°. Height of the tower is -

s 100
{A) 100 V3'm B  —-=m |
‘Ill,j. L-J
- 200
@ 503 m B
O 5
138. Thevalue o '
cos L¥g0s 2" cos 37 ... cos 177 cos 1780 cos 170 4s . |
- . JI
1 ! |
AFE ® 0 o 5 o1

139. The value of (sin® 25° + sint 65 is -

5

(A) I:, (B) -2 (S T

140. The degree measure of 1 radian (taking == 2},—2]
152 i
(&) 572216 (approx.)
(B} 57761 22" {approx.)
Q) 57°16' 22" (approx )
D) 57°22'16" (approx) E

141 If sinb+cosech=2, then the value of
sin’f + cosec? B is ; '

W1 ® 3 © 2 @ 4

142. -Ifsec 8+ tant=2+ /5, then the valueof sin 6+ cosd
1S

i~

1 3
W EFE® FO & O

143. Ewaluate: tan 1"tan2°tan3°...._ . tan 89,

@ o ® 1 © -1 DO 2

———

SPACE FOR ROUGH WORK
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Directions : Questions no. 14470 146, thé Tollowing -
pie-chart shows the number of students admitted in
different faculties of a college: Study thie chart and answer.

Education

44, 1000 stadenis are admitted in stience, what isdpe
total number of students ?
-
[A) 360 (B 180 (O 1800 /;Iﬂ‘j 600
145, [F1000 students are admitted in science, what is the

ratio of students in science and arts |
[ = {B) g5 By T

&

-

146. How man],-'. éluﬂen!sl are iore in commerce than in
law if 1000 students are in science ?

A 20 @ W0 © 2000 @ 500

3=
- s
- e

Directions : Questions na. 147 to 150, Stud y the two
pie-chartsand answer the questions.

Lg%
f,f“'rh. B . _Dq.l;i- --».\
g o rllE E-S.i'n.-irlg_: % _'<\ it :
Apnt monh's: o F —4 . Gyoeery May moith s I*;:z\! B2
, salapy \ Brasip. Blecusn and S0 = B |
¥ 24000/ ﬂﬂ ! ifitihe s 2500, A )
A \":v'-'-f 1#% A !;-,'-Imrﬂwn_u} . TS
4 Slb Mg eMan Preihary ™ T

147, The averageamount spent on Education, Crocery
andSavings from April month's salary is:

{A) 25520, - (By T 5800,-
(© T 6000/ D) 6325/-

148 From the saldry of May, the amount spent on Grocery
' and Electricity are
[A)  T2160, T 480 (B}  ¥6250, T a360
& 7960, T 5040 (O} T3500 T 2250
149, The ratio of amount spent for savings in Aprni
month’s salary and miscellaneous in May month's |
salary is
(A} 235.30 (B) 216:28
G ur% i) 205;13
150.  What is the percent increase in Education in May
month than April month ?
(A)  1082% (B) 956%
@ 1235% ©  20%
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PART - D 2

ENGLISH CDMPREHENSION

Directions : In question numbers 151 to 155, some parts of
the sentences have errors and some are correct. Find out
which part of a sentence has an error and blacken the
oval [@] corresponding to the appropriate letter (A, B, C),
If a sentence is free from error, blacken the oval
corresponding to (D) in the Answer Sheet.

-

P
You ra%eat / /as much as you like /
(A= (B)

atthe newly lunch bar. / N
([

151.

o Error.

The teacher, as well as the students, /

(A)

152,

have gone on an excursion /

{B)

| 156. He way assured by his {riends

to Oooty during their su ,H' Mo Error.
e 7 (D)

153, TheUUS/ don't want / India inthe Security Coundil./
=18 (B) ©

154, Thecruel lady made / her step-daughtertodo /
(A) : ()

all the household chores. / %@
©

155. My sister asked me / that howlong /

(A)
| would stay there. / No Error. /
S (8 ()

—_

Directions : Inquestion numbers 156 to 160, sentences are
givenwith blanks to be filled with an appropriate word(s).
Four alternatives are suggested for each question. Choose
the correct alternative out of the four and indicate it by
blackening the appropriate oval | @ ] in the Answer Sheet.

EVETY

type of helpan anemergency,

(A) about *
® by
ey of
M) will
157. He was noba ma ) intellizence
{A) ¢ empty of
By 2 facking of
. (@), devoid of
i °  Absento
158. The work , he teft his office.
(A) bhaving been over

(B)  having completed
(O having been completed ~#
on being finished

159. Qur monthly expenditure by five
hundred rupees when we decided to buy milk from
the mitkman.

\{ﬁ)/ E"E“'UF

shot up
(C} gotup

(D)  liftedup

160. . the people looked well enough, but

when one looked more closely one saw that their

faces were filled with despair.
Mt first sight

(B)  Atfirstlooking
{C) At first observation I
@)  Onfirstsight
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Directions: InTuestion numbers 161 to 163, out of the
fouralternatives, choose the one which best expresses the
meaning of the given word and mark itin the Answer Sheet.

161. ~ Advocate:
) predic
(B)  pronounce
support

(D) determine ,

162. Preamble:

(A) deﬁ.niti:_'_‘.lpr'\

(B) mediation” B

ey conclusion” ‘r;a,.,"i
Etr{:«duch’er— o

o)

163. Students are asked to collate for an important
progranmune by the principal.

A}  assemble
B descnbe
() narrate
(D) prescribe

i
i
¥

Directions: In question numbers 164 to 166, choose the
word opposite in meaning, to the given word and mark it
inthe Answer Sheet.
164. Ambiguous:

(A)  easy

(B) lain

49/;:::
@) simple

165. Accolade:

(A} _ permeate
blame
Q)  retcent
(D)  decorate
166. Wary -
(A) rash

. (B) conscientious

8 daring

() thrifty
Downloaded From

™
Directions: In question mMimbers 167 to 171, four
alternatives are given for the Idiom\ Phrase underlined.
Choose the alternative which best expresses the meaning
of the Idiom\ Phrase and mark it in the Answer Sheet.

167. Villagers always call a spade a spade.

(A) tospeak aboutspades

/ﬂ-‘r}'"l'g speak in a straightforward manner

(@ tocall someone a spade
(D)  tospeakill aboutsomeone
168, r?ﬂar ybroKe a dining-room window and had to

face the'music when her father got home
(AR accept the punishment
(B) * listen carefully

LAY ask a lot of questions

listen to music

169. Toplay second fiddle,

-{A)  tobe happy, cheerful and healthy
(B) toreduce theimportanceof one's senior

_;.(E?I'l take a subordinate role
(©)

to do back seat driving

170. Why are you jumping down my throat ? | wasn't

even in the house when it happened,
" (A)  runningaway '
(B) -makingajoke ~
_,EE'J"/J scolding rﬁe -

©)

forcing me toeat

—
—

171, Tam outof my witsand therefore cannot find a way
to solve the problem immediately.

(A) notintelligent enough ¥

\/‘(’B),,/ greatly confused >
(© " helpless withoutpower .~
©)

totally ignorant

. http://www.sscportal.in
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Directions: In question numbers 17210181, a sentence{ . 177. ]ohn had told me that he hasn—lﬁ'ﬂne it yet.
part of the sentence is underlined. Below are given .

alternatives to the underlined sentence,/ part of the sentence AA( told
at (A), (B) and (C) whichmay improve the sentence. Choose
the correct alternative. Incase no improvement is needed
your answer is (D). ©

was telling

172, 1fhe had time he will call you, (O) Noimprovement

(A) ~ would have

ﬁ/uvnuld have had 178. The clients are wanting outside since morning and
O has will contimueiowait until you meet them,

(O) Noimprovement (A) have waited

B}  hawe been waiting

173 'lne‘-«ﬂrkus.'lrehf-il tnenhtgett*ﬂa what s due to

(U weere walling
them. '

(A)  hell bent on geltmg

l’B),/ hell bent for getting
(C)  hell bent upon getting

|
i ! -
E _ {DLMNomprovement

| 429, He may have grawn taller when i asi ';ah&
| :

(D) - Noimprovement N (4 from'when | last saw him
,&B}/ since ] last saw him
174. Weare looking forward to see you tomorrow {©) beforellast saw him
(A)  looking forward towards seeing % (0) Noimprovement

(B) looking forward for secing
{©)  looking forward to seeing

‘ _180. - While crossing the highway, a five }rEmJ 0-1d child
/EB( No improvement ‘ - : wag knocked out by a passing car.
: (@ away
“175.  They could not tell me why did he not gat his lunch. ®) -
up .
{A)  why not had he eaten ¥ .
,{Gj/ down

4B why hedid noteat

(C)  why had he not eaten B Noimprovement

(D)  Noimprovement

181, Dt{ﬁng his long discourse, he did not touch that

176. He whowill bid the highest will get the product. e
{A)  who bids the highest

(B)  who the highest bids - touch in / /
i ! L?)/tt}uch of _

_AE~ who would bid the highest

{A) touchupon

(D) Noimprovement i 6 g {Dj Noimprovement -~
b
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Directions: In question numbers 182 to 188, out Gf the
four alternatives, choose the one which can Jgﬁﬁuh&n_ﬁ
for the givenwords / sentenceand indicate it by blackening
the appropriate oval [ @ ] in the Answer Sheet.

182. Detailed plan of ajourney : [3
(&) Travelogue

E-1

(B) Travelkit » b

ﬁ/ Schedule

©)  linerary

183,  Unewho cannot be corrected
1A Tncurable
(B)  Incorrigible
(Q Hardened

T Invulnerable

184. A general pardon granted by the Government to
political offenders.

(A) Pardon
(B) Excuse ;
(O Honesty»
A5 Amnesty

185. Onewho hates women ;

.—9’0/' Misogynist

(B) Misogamist
(&)  Ambivert
D) Misanthrope .

186. A person who consumes human flesh :
A% Cannibal /
(B) Javage
@ Captor

/{D‘}/{ vare

nloaded From : htt
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187. A school boy who cufs classes frequentlyisa:

(A) Defeatist

(B]- Sycophant
/(6)/’ Truant

(D) Martinet

—————— e,

s

(B ( sgepticism

& mesmensm

g

S &Y (plagiansm !

Directions: Inquestion numbers 189 and 190, four words
are given in each question, out of whiich only one word is

correctly spelt. Find the correctly spelt word and mark

your answer in the Answer Sheet.

189, The laboratories are with high-tech

electronic gadgets.

/(ﬁr,t’q“ipp‘?d Ef[r_"._.

B e o

© eqiuped
D)  equepped x

190. Software companies have ushered in
culture along with advanced technology.

(A) foriegn foves ?

(B) foreegn
{iC] forigen
foreign

p: //WWW sscportal in
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Directions: In question numbers 191 to 200, you have two
passages with 5 questions in each passige. Read the
passages carefully and choose the best answer to each
question out of the four alternatives and mark it by
- blackening the appropriate oval { @ ] in the Answer Sheet.

Passage - 1[Question numbers 191 to 195) -

The World Health Organisation is brieflv called
W.H.O. Itis a specialised agency of the United Nations
and was established in 1948,

international health workers can be seen working
in all kinds of surroundings  in deserts, jungles, mountairs,
coconul grﬁves, and rice fields. They help the sick toattain
‘health and the healthy to maintain their health

Thas global heaith team assists the jocal heaity
workers in stopping the spread of what are called
communicable diseases, like cholera. These d iséase-s can
spread from one country toanother and so can be a threat

to world health,

W.H.O. assists different national health authorities
notonly incontrolling diseases but also in preventing them
altogether. Total prevention of diseases is possible ina
number of ways. Everyone knows how people,
particularly children, are vaccinated against one disease
or another. Similarly, most people are familiar with the
spraying of houses with poisonous substances which kill
disease-carrying insects.

191. "Itisa specialised agency of the United Nations and

was established in 1948." Here specialised means |
e ——
\_(k}'/ made suitable for a particular purpose
(B)  expert
©

{D}unmnm‘run

extraordinary

192, “International health wﬂ‘.rkers" can be seen working
in all kinds of surroundings : in deserts, jungles,
mounjains, coconut groves, and n-::et:elds Here
International means : 2

s bt

(A)  belonging to the whole world
(B)

Q) believing ingooperation among nations

drawn from all countries of the world

[J?)/beim:l,mg totan organisation which has

something fo.do with different nations.
: 193, "?:wn-elpth- §ick to attain an trandt i'1 healih

0 mainiam their health”. Here 'u:l"t tiyd

§h) Wideseris

B} ricefields

G international health workers

';'_.-'
pnEhes
194, “W.H.O. assists dif ferent national health authorities

not only in ci}nlroilmg diseases but al: also in
prevepting them altogether”, The above senténce
implies that :

{.r\_]

W.H.O. assists many others in ildr:htmn to the
national health authorities.

(B)  W.H.O. assists more in preventing diseases
than incontrolling them.
(O -WHO assists in mnn'"oiling diseasesonly if

they have not been prevented. =

I;.QB}/ W.H.O. assists both in controlling diseases
and in preventing themn.

195. “Total prevention of diseases is possible ina number -

_of ways”. The author has given illustrations of

47 only two such ways

(B) only one such v:fa}r L
{©Q morethan two suchways
@) noneof these ways
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Passage - 11 {Queshnn numbers 196 to 200} :

Why don’ t I have a tel'ephune ? Nm because [
pretend to be wise or pose asunusual. Thereare two cluei
reasons; because 1 don't really like the telephone, and
because I find I can still work and play, eat, breathe, and
- sleep without it. Why don't1like the telephione ? Because
~Uhinkitisa pest and time waster. ltmay create unnecessary
suspense and anxiety, as when you wait for an expected
call, that doesn’t come; or irritating delay, as when you
keep ringing a number that is always engaged. As for
speaking in a public telephone booth, it seems to me really

horrible.. You would not use it unless you wereina hurry,

- and because you are inahurry, you will find other people

waiting before you. When you do get into the booth, you

are half suffocated by the stale, unventilated air, flavored

with cheap face-powder and chain smoking; and by the
time you have begun y;:-u: conversation your back is chilled
by the cold looks of somebody who is moving about
restlessly to take your place.

m"_have a telepfione in your house, you will admit
that it tends to ring when you least want it to ring; when
youare asleep, or in the middle of ameal or a conversation,
or when you are just going dut, or when you are in your

bath. Are you strong minded enough toignoreit, to say to

yourself. *Ah well, it will be all thesame in hundred }rea,r-&

time”. You are not. You think there may be some important
news or message for you. Have younever rushed dripping

from the bath, of chewing from the table, or dazed from

bed, only to be told that you are a wrong number 7 You
were told the truth. In my opinion all telephone numbers
arewrong numbers. If, of course, your telephone rings and
you decidgmot to answer it, then you will have to listen to
an idiaz:i_l ringing and ringing in whatis SuPPDISEd to
» be the privacy of your own home. You might as well buy a
bicycle bel-l and ring it yourself.

196. Theauthor does nﬁt’ﬁa\re a telephone because -
‘(A)  hepretends to be wise ¥
(B)  he poses as unusual 2o
(@ hewould prefer to do something else

L,;B}ﬂ he thinks that it can create unnecessary
suspense and anxiety.

197. He hates speakmg_ ma public telephone buulh

because: o
(A) itiscostlier *= i :

Mﬁ issuffocated by the stale, unventilated air,
flavoured with cheap face powder and chain.
smoking:

{C) otherslook at him angrily "
(D) theether side may not know v

OUr DUImbe)
198 2, fﬂur D&Lk s '.-hi“E'd ?}"_ ” |n|'_].[.c'-r.l of
somebody mears: ,

(A) Pothers look at you angrily

M) youfeel cold at the back
r#,.{fj’ you feel uneasy because the person next in
the queue looks at you restlessly
(D)  peopleare very cold

199.  “Ah well, it will be all the same in hund red years
_time’, Thissentence means :
o Nothing is going to change even if you don't
answer the telephone bell.
(B)  Things have not changed for the past
100 years. *
(©)  Things will remain the same for 100 years to
come.
(D} Oneshould be strong minded.
200. “All telephone numbers are wrong numbers’,

because:
(A)  theauthor always gets wrong calls
(B)  whenever he tries it always goes wrongt”

(C}  hedoesn't givemuch importance to telephone
and telephone numbers.

none of the statements given above.

-o0a-

i

Downloaded From : http: SIIWWW. sscportal.in



Study Kits for SSC Exams CGL, CAPF, DEO

+ Medium: English

+ 100% Syllabus Covered
+ Available in Hard Copy

For Futher Details Call Our Course Co-Ordinator
Phone: 011 - 65023618

@ Complete Study Materialsfor SSC Exams - CGL, CAPF, DEO,

FCI, IBPS Exams
http://sscpor tal.inf/community/study-kit

Staff Selection Commission Exam Books

s+ Combined Graduate Level

+» Combined Higher Secondary Level (10+2) Exam
% Sub Inspector In CPOs Exam

%+ All Other SSC Examinaitons

@ SSC Exam Books: ORDER Online- SSC CGL, CHSL, MTS,
CPO, FCI Exam:

http://sscportal.in/community/books

@ Download SSC Combined Graduate Level (SSC-CGL) Exam

Previous Year Papers
http://sscportal.in/community/cgl/previous-year -papers

@ Download SSC: Combined Graduate L evel Examination
http://sscportal.in/community/syllabus/ssc-cgl-exam-2012

For Any Help & Query Call us @ +91 88007341618




